Addition
Jump strategy (another way to add)

Start from the largest number and jump forward from it to get
the final answer.

Using the jump strategy on a hundred chart

46 + 33 =79
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Using the jump strategy on an empty number line

+ =79

. could be done ... + 10+ 10+10+ 1T+ 1+1
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answer

56 66 76 79

Students record the jumps they make and where they land on the line until
they get to the answer.

. or could be done ... + 10+ 10+ 10 + 3
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answer

56 66 76 79

There are many ways to get the same answer.
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